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QUESTION 1

Which tool or utility can report whether traffic matching specific criteria can reach a specified destination on the ACLs
along the path?

A. Cisco Security Device Manager
B. Cisco Prime

C. APIC-EM

D. Cisco Network Assistant

Correct Answer: A

QUESTION 2

Which port type is used in a stacked deployment?
A. StackWise ports

B. uplinks

C. Ethernet ports

D. console ports

Correct Answer: A

QUESTION 3

Which BGP command do you enter to allow a device to exchange IPv6 prefixes with its neighbor?
A. neighbor ip-address activate

B. neighbor ip-address remote-as ASN

C. router bgp ASN

D. show ip bgp neighbors

Correct Answer: A

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/iproute_bgp/configuration/xe-16/irg-xe-16-book/ipv-routing-
multiprotocol-bgp-link-local-address-peering.html

QUESTION 4

Which version of SNMP first allowed user-based access?



A. SNMPv3 with RBAC

B. SNMPv3

C. SNMPv1

D. SNMPv2

Correct Answer: B

QUESTION 5

Which two statistics appear in show frame-relay map output? (Choose two.)
A. the number of BECN packets that are received by the router

B. the value of the local DLCI

C. the number of FECN packets that are received by the router

D. the status of the PVC that is configured on the router

E. the IP address of the local router

Correct Answer: BD

Frame Relay Commands (map-class frame-relay through threshold ecn)
Examples

The following is sample output from the show frame-relay map command:

Router#show frame-relay map Serial 1 (administratively down): ip 10.108.177.177 dici 177 (0xB1,0x2C10), static,
broadcast, CISCO TCP/IP Header Compression (inherited), passive (inherited)

Reference:

http://www.cisco.com/en/US/docs/ios/12_2/wan/command/wrffr4.html#wp102934

QUESTION 6

Which two services can the ICMP Echo IP SLA provide? (Choose two.)
A. network performance monitoring

B. inventory maintenance

C. asset depreciation reporting

D. hardware information exchange between devices

E. network device availability reporting



Correct Answer: AE

QUESTION 7

Which type of VPN allows for one endpoint to be learned dynamically during tunnel negotiation?
A. DMVPN

B. site-to-site VPN

C.GRE

D. client VPN

Correct Answer: A

QUESTION 8

When troubleshooting Ethernet connectivity issues how can you verify that an ip address is known to a router?
A. Check Whether the ip address is in the routing table

B. Check Whether an ACL is blocking the ip address

C. Check Whether the ip address is in the CAM Table

D. Check Whether the ip address is in the ARP Table

Correct Answer: D

QUESTION 9

What is the default administrative distance of OSPF?
A. 90

B. 100

C. 110

D. 120

Correct Answer: C

Default Distance Value Table

This table lists the administrative distance default values of the protocols that Cisco supports:



‘ Default Distance
Route Source Vakies

|Cunnec!ed interface 0

|Stali:: route 1

Enhanced Interior Gateway Routing Protocol oL ]
(EIGRP) summary route

External Border Gateway Frntncol (BGP) AO _

nemaEiGRe OO0 (o0 |
IGRP 100

OSPF 110

Intermediate System-to Aﬁ."}'.;,- te System (IS-1S) _
Routing Information P) ul (RIP) 120
Exterior Gatewa m:"‘ 0l (EGP) 140
Gn Demang §4%o (ODR)
ExtemalE “‘I 170

| Internal BEGF
oo

QUESTION 10

Which statement about the default VLAN is true?

A. It is always the same as the native VLAN.

B. Its name is Default by default.

C. It can be removed without additional configuration.
D. Itis always VLAN 1.

Correct Answer: D

QUESTION 11
An administrator is troubleshooting a problem between routers that are using different versions of RIP.

Which two commands would provide information about which version of RIP was being sent and received on an



interface? (Choose two.)
A. show ip protocols

B. show ip route rip

C. show interfaces

D. debug rip routing

E. debug ip rip

Correct Answer: AE

QUESTION 12

Which two statements about Ethernet standards are true? (Choose two.)

A. Ethernet is defined by IEEE standard 802.2.

B. Ethernet is defined by IEEE standard 802.3.

C. Ethernet 10BASE-T does not support full-duplex.

D. When an Ethernet network uses CSMA/CD, it terminates transmission as soon as a collision occurs.
E. When an Ethernet network uses CSMA/CA. it terminates transmission as soon as a collision occurs.

Correct Answer: BD
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